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Supplementary Material 5. lllustrative example of successive difference in mean and standard
deviation values for three outputs of Archetype 1, 2, and 48.
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Figure S4. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 1 for the ecosystem service
Filtration of Pollutants (PM 10). Change in the mean and standard deviation based on 5, 10, 15, 30,
45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated output
(Total) are written in bold to help the reader notice that the interval of values differs from the one of
yearly outputs.
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Figure S5. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 2 for the ecosystem service
Filtration of Pollutants (PM 10). Change in the mean and standard deviation based on 5, 10, 15, 30,
45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated output
(Total) are written in bold to help the reader notice that the interval of values differs from the one of
yearly outputs.
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Filtration of Pollutants (PM10) - Archetype 48
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Figure S6. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 48 for the ecosystem service
Filtration of Pollutants (PM 10). Change in the mean and standard deviation based on 5, 10, 15, 30,
45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated output
(Total) are written in bold to help the reader notice that the interval of values differs from the one of
yearly outputs.
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Figure S7. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 1 for the ecosystem service
Regulation of Temperature & Humidity. Change in the mean and standard deviation based on 5, 10,
15, 30, 45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated
output (Total) are written in bold to help the reader notice that the interval of values differs from
the one of yearly outputs.
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Figure S8. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 2 for the ecosystem service
Regulation of Temperature & Humidity. Change in the mean and standard deviation based on 5, 10,
15, 30, 45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated
output (Total) are written in bold to help the reader notice that the interval of values differs from
the one of yearly outputs.

70

80

80

80



4300

4000

3700

3400

3100

2800

2500

2200

300

250

200

150

100

50

300

250

200

150

100

50

Regulation of Temperature & Humidity - Archetype 48
300

250
200
150

100

50

10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80

300

250

200

150

3T
e
. ]
——
—
——
=
o
o

50

4
——
—e—

10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80

300

250

200

150

J»—

50
I I L
%TL t t t

0
10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80

No. Replications

—@—Year 10 —@—Year 20 Year 30 Year 40 —@—Year 50 —@—Total

Figure S9. lllustrative example of the successive difference in the mean and standard deviation of
the yearly outputs and the accumulated (Total) output of Archetype 48 for the ecosystem service
Regulation of Temperature & Humidity. Change in the mean and standard deviation based on 5, 10,
15, 30, 45, 60 and 75 replications are plotted. Numbers of the abscise axis for the accumulated
output (Total) are written in bold to help the reader notice that the interval of values differs from
the one of yearly outputs.



